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ECON 3010 Intermediate Macroeconomics – Exam #1 
NAME ________________________________________ 

 
Multiple Choice Questions. (25 points; 2.5 pts each) 
 
#1. The marginal propensity to consume is the: 
 
a. ratio of consumption to income. 
b. amount consumed out of an additional dollar of income. 
c. amount available for consumption after precautionary saving. 
d. ratio of consumption to wealth. 
 
#2. Discouraged workers are counted as: 
 
a. part of the labor force. 
b. out of the labor force. 
c. employed. 
d. unemployed. 
 
#3. If the number of employed workers equals 200 million and the number of unemployed workers 
equals 20 million, the unemployment rate equals ______ percent (rounded to the nearest percent). 
 
a.  0 
b.  9 
c.  10 
d.  20 

 
#4. Unlike the GDP deflator, the CPI includes the prices of: 
 
a.  goods purchased by firms. 
b.  goods purchased by governments. 
c.  exported goods. 
d.  imported goods. 
 
#5. If the adult population equals 250 million, of which 145 million are employed and 5 million are 
unemployed, the labor force participation rate equals ______ percent. 
 
a.  50 
b.  58 
c.  60 
d.  67 
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#6. If the unemployment rate is 6 percent and the number of employed is 188 million, then the labor 
force equals ______ million. 
 
a.  11.28 
b.  176.72 
c.  188 
d.  200 

 
 

#7. Which of the following is a flow variable? 
 
a.  wealth 
b.  the number unemployed 
c.  government debt 
d.  income 
 
 
#8. A competitive, profit-maximizing firm hires labor until the: 
 
a.  marginal product of labor equals the nominal wage. 
b.  price of output multiplied by the marginal product of labor equals the nominal wage. 
c.  real wage equals the real rental price of capital. 
d.  wage equals the rental price of capital. 
 
 
#9. Assume that the investment function is given by I = 1,000 – 30r, where r is the real rate of interest 
(in percent). Assume further that the nominal rate of interest is 10 percent and the inflation rate is 2 
percent. According to the investment function, investment will be: 
 
a.  240. 
b.  700. 
c.  760. 
d.  970. 
 
 
#10. An example of increasing returns to scale is when capital and labor inputs: 
 
a.  both increase 10 percent and output increases 5 percent. 
b.  both increase 10 percent and output increases 10 percent. 
c.  both increase 5 percent and output increases 10 percent. 
d.  do not change and output decreases 5 percent. 
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Problem Solving / Essay Questions. (75 points) 
 
#11.  (30 pts) Consider a macroeconomy that only produces guns and butter.  Use the information below 
to answer the following questions. 

 Quantity  Price (in dollars) 
Product 2016 2017 2016 2017 
Guns 20 25 $100 $90 
Butter 150 140 $10 $15 

 
(a) (10 pts) Calculate nominal and real GDP for 2016 and 2017 using 2016 as the base year.  What is the 

annual growth rate in the nominal and real GDP over this period?  If nominal GDP grows at this same 
rate, what will it be in 2018? 
 
 
 
 
 
 
 
 
 
 

(b) (10 pts) Assuming that the 2016 quantities in the table represent the typical consumer’s basket of 
goods, calculate the CPI and GDP deflator for 2016 and 2017.   
 
 
 
 
 
 
 
 
 
 

(c) (10 pts) What are the inflation rates between 2016 and 2017 for the two price measures above?  
Choose a good or service that is in the GDP deflator, but not in the CPI.  Similarly, choose a good or 
service that is in the CPI, but not the GDP deflator.  Explain your rationale in both cases.  
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#12. (30 pts)  Consider the following Neoclassical model of a closed economy, where 𝑟𝑟 is in percentage terms.  
Show all your work. 

Supply Demand 
𝑌𝑌 = 𝐹𝐹(𝐾𝐾, 𝐿𝐿) = 5𝐾𝐾1/2𝐿𝐿1/2 𝐶𝐶 = 40 + 0.5(𝑌𝑌 − 𝑇𝑇) 

𝐾𝐾 = 25; 𝐿𝐿 = 36 𝐼𝐼 = 30 − 5𝑟𝑟 
 𝐺𝐺 = 25, 𝑇𝑇 = 20 

 
(a) (5 pts) What is the level of GDP in the economy?  How much of national income goes to workers and 

how much goes to the owners of capital?  Show your work.   

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

(b) (10 pts) Find the interest rate that produces equilibrium in the goods and services market.  Then use a 
demand-supply diagram to show how the equilibrium interest rate is predicted to change if President 
Trump builds “the wall” between Mexico and the U.S.  What will “the wall” do to private investment 
spending?  Explain. 
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(c) (10 pts) Show that the interest rate from part (b) also clears the market for loanable funds.  Show this 
equilibrium in a diagram.   

 

 

 

 

 

 

 

 

 

 

 

(d) (5 pts) Now assume that Congress passes a budget-neutral tax increase to pay for “the wall”, one that 
leaves the budget unchanged.  Show the impact of the change in G and T in your loanable funds 
diagram.  [HINT:  To check your intuition, it might be helpful to substitute new numbers for G and T 
and re-calculate the equilibrium interest rate.]  
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#13.  (15 pts)  True or False.  If false, correct the statement to make it true.  
 
(a) (5 pts) The labor force participation rate has declined over the past decade primarily because women 

are dropping out of the labor force. 
 
 
 
 
 
 
 
 
 
 
 
 
 

(b) (5 pts) If you live in your own house, it does not count in GDP.  If you rent your house, it counts in GDP. 

 
 
 
 
 
 
 
 
 
 
 
(c) (5 pts) Social security is part of GDP. 
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[scratch paper] 
 


